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Example of Banker's Algorithm

Total A B C Avail A B C

10 5 7



Allocation A B C Max A B C

0 1 0 7 5 3

2 0 0 3 3 2

3 0 2 9 0 2

2 1 1 2 2 2

0 0 2 4 3 3

Total A B C Avail A B C

10 5 7 3 3 2
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Not practical

DeadlockDetection

Allow system to enter deadlockstate
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Deadlock
break deadlock

hold and wait

Resource Allocation Graph

Similar Algorithm 01mm

Tue allocation graph and corresponding wait for graph

Here you don't have max no of resources
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Keep checking periodically
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Abort and rollback

logs for recovery
RAID

Most popular method for deadlock prevention

lock resources in order

Transaction Memory

Resource Preemption

see slides


